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SECOND YEAR HIGHER SECONDARY
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Part — III

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores
Time : 2% Hours

Cool-off time : 15 Minutes
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General Instructions to Candidates :
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
ACCOUNTANCY Scores : 40
I.  Answer any four questions from 1 to 5. Each carries 1 score. 4x1=4)
1. Partners capital account is debited with :
(a) Interest on capital (b) Commission

(c) Drawings (d) Share of profit

2. The share of goodwill brought by new partner is shared among the old partners in their :
(a) Old ratio (b) New ratio

(c) Sacrificing ratio (d) Gaining ratio

3. The old profit sharing ratio of A, B & C were 3 : 2 : 1. B retired from the firm. The
gaining ratio of A & C will be :

(@) 3:1 (b) 3:2
(c) 1:3 (d 2:3

4. Find the odd one :
(a) Change in profit sharing ratio among partners
(b) Retirement of a partner
(c) Dissolution of a firm

(d) Insolvency of a partner

5. Unrecorded assets realised at the time of dissolution of a firm is shown on the :
(a) debit side of Realisation account (b) credit side of bank account

(¢c) credit side of Realisation account (d) credit side of Revaluation account
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PART -1
ACCOUNTANCY Scores : 40
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II. Answer all the questions from 6 to 7. Each carries 2 scores. 2x2=4)

6.  Binu, partner in a firm withdraws < 5,000 at the beginning of each month for 12 months.
Calculate Binu’s interest on drawings at the rate of 10% p.a.

7. Shaji, Biju and Abu are partners sharing profits and losses in the ratio of 2 : 1 : 1. Biju
retires and the goodwill of the firm is valued at ¥ 36,000. Record necessary journal
entries for the treatment of goodwill.

III. Answer any two questions from 8 to 10. Each carries 3 scores. 2x3=06)

8.  State any three differences between Fixed Capital method and Fluctuating Capital
method.

9. Hari and Amal are partners in a firm sharing profits in the ratio of 3 : 1. They admit
Sudheer as a new partner. On that date there was a balance of ¥ 12,000 in Reserve fund
and ¥ 16,000 in Profit and Loss account (Cr). Pass necessary journal entries regarding
the adjustment of accumulated profit or loss.

10. Journalise the following at the time of dissolution of a firm :
(a) Realisation expenses paid I 2,000
(b) Unrecorded assets realised ¥ 5,000

(¢) Investments worth T 3,000 is taken over by Anju, a partner

IV. Answer all the questions from 11 to 12. Each carries 4 scores. 2x4=38)

11. Prakash and Babu are partners in a firm sharing profits and losses in the ratio of 3 : 2.
They admit Sajitha as a partner for 1/6 share of profits. Sajitha brings I 30,000 as
capital and ¥ 10,000 as her share of goodwill. Prakash and Babu withdraw the amount
of goodwill brought by Sajitha. Give necessary journal entries.

12. Madhu, Yamuna and Ajmiya are partners in a firm. Yamuna retires from the firm. On
the date of her retirement, ¥ 20,000 becomes due to her. Madhu and Ajmiya promise to
pay her in four equal yearly instalments plus interest @ 6% p.a. on the unpaid balance
at the end of every year. Prepare Yamuna’s Loan Account.
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13.

14.

VI
15.

Answer all questions from 13 to 14. Each carries S scores. 2x5=10)

Anna and Shani are partners of a firm sharing profits and losses in the ratio of 2 : 1.
Their capitals were ¥ 50,000 and T 30,000 respectively. The profit of the firm during
the year were ¥ 30,000. According to partnership deed, both partners are allowed a
salary of ¥ 1,000 per month to Anna and ¥ 600 per month to Shani. Interest allowed on
capital @ 6% p.a. The drawings at the end of the period were ¥ 8,000 for Anna and
T 6,000 for Shani. Prepare partners capital accounts under fluctuating capital method.

(a) Sini, Ambili and Subha were partners in a firm sharing profits and losses in the
ratio of 3 : 2 : 1. Sini retires and her share is taken up by Ambili and Subha in the

ratio of 3 : 2. Calculate the new profit sharing ratio. 2)
(b) Briefly explain the different ways of payment to a retiring partner. 3)
Answer any one question from 15 to 16. Carries 8 scores. (1x8=38)

The following is the Balance sheet of Nandana and Sunil as on 31-03-2020, who share
profits and losses in the ratio of 3 : 1.

Balance Sheet as on March 31, 2020

Amount Amount
Liabilities Assets
) )

Bills payable 10,000 | Cash in hand 10,000
Bank Overdraft 5,000 | Debtors 30,000
Capital Accounts : Stock 10,000
Nandana 60,000 | Machinery 25,000
Sunil 40,000 | Building 40,000
1,15,000 1,15,000

Mini is admitted as a partner on the date of the Balance Sheet on the following terms :
(1) Mini will bring ¥ 30,000 as her capital for 1/6 share in the profits.

(1) Building is to be appreciated by 15% and Machinery is to be depreciated by 10%.
(1i1) Stock is valued at ¥ 9,000.

(iv) A provision for bad and doubtful debts is to be created at 5% of debtors.

Prepare Revaluation account, Partners’ capital accounts and the Balance Sheet of the
firm after the admission of Mini.
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13.

14.

VI

15.
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aVil@d 40,000 | ©dSlso 40,000
1,15,000 1,15,000

®OOY HRIS)TVIGBH AINOHSC@@3 2eIday «Higlod clociolcd dlalew

21808100 (alcaludlafla)) :

(1) alafl 1/6 encaladlemasimow 30,000 @)t MmEIWMo 06NN,

(i) eaglsoolond melp 15% aidellendwl eaalmdloes mele 10% aene’
B3OW)BHW)o HalGHaM).
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16. Midhun and Manoj were equal partners. Their Balance Sheet as on March 31, 2022 is

as follows :
Balance Sheet as on March 31, 2022
Amount Amount
Liabilities Assets
) )
Creditors 20,000 Cash at Bank 10,000
Reserve Fund 10,000 Debtors 15,000
Capital : Stock 25,000
Midhun 30,000 Bills receivable 5,000
Manoj 30,000 Machinery 20,000
Investment 15,000
90,000 90,000

The firm was dissolved on March 31, 2022 and assets realised and settlements of

liabilities are as follows :

(a) The realisation of the assets were as follows :

()
Debtors 14,000
Stock 26,000

Bills Receivable 4,000

Machinery 22,000

(b) Investment was taken over by Midhun at ¥ 13,000
(¢) Creditors were paid off less 5% discount.
(d) The realisation expenses incurred amounted to I 1,200.

Prepare Realisation Account, Partners Capital Accounts and Bank Account.
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PART - 1I
ANALYSIS OF FINANCIAL STATEMENTS Scores : 40

VII. Answer any four questions from 17 to 21. Each carries 1 score. 4x1=4)

17. A company forfeited 100 shares of the face value of ¥ 10 due to the non payment of
final call of T 3 per share. The amount credited to Share forfeiture account is :

@) %300 (b) T 1,000
(c) %700 d) %1300

18. The debenture which do not carry a specific rate of interest is :
(a) Secured debentures (b) zero coupon rate debentures

(¢) Registered debentures (d) Specific coupon rate debentures

19.  Which of the following is shown under the head Non-current investment in the Balance
sheet of a company ?

(a) Reserves and Surplus (b) Inventories

(¢) Intangible assets (d) Long term loans and advances
20. Which of the following comes under financing activities ?
(a) Cash paid to supplier (b) Payment of taxes

(¢) Purchase of machinery (d) Issue of debentures

21. The ratios used to analyse the efficiency of operations of business is :

(a) Liquidity ratio (b) Profitability ratio
(¢c) Activity ratio (d) Solvency ratio
VIII. Answer all questions from 22 to 23. Each carries 2 scores. 2x2=4)

22.  AB Ltd. purchased furniture for ¥ 50,000 from KK Ltd. and made the payment of
purchase consideration by issuing 500, 10% debentures of ¥ 100. Record necessary
journal entries.

23. State any two limitations of ratio analysis.
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PART - 1I
ANALYSIS OF FINANCIAL STATEMENTS Scores : 40

VIL 17 ay®a@d 21 Qleoow88 a@o®sslele MOel GaldBiaBudds DOM0e MO3dh)d.
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IX.

24.

25.

26.

27.

28.

XL
29.

30.

Answer any two questions from 24 to 26. Each carries 3 scores. 2x3=6)

Alpha Ltd. invited applications for 10,000 shares of ¥ 20 each, payable ¥ 8 on
application, ¥ 8 on allotment and balance on first and final call. Applications were
received for 12,500 shares and the excess application money were totally rejected. Give
journal entries for the receipt of application money, transfer of application money to
share capital account and for the refund of excess application money.

Share any three distinction between shares and debentures.

Calculate cash flows from financing activities from the following details :

Item 1-4-2020 | 31-03-2021

Long term loans 3,00,000 4,00,000

During the year, the company repaid a loan of ¥ 80,000.

Answer all questions from 27 to 28. Each carries 4 scores. 2x4=38)

Briefly explain any four categories of Share Capital.

Describe any four objectives of Financial Statements.

Answer all questions from 29 to 30. Each carries S scores. 2x5=10)

List out any two cash inflows and three cash outflows from operating activities.

From the following information, prepare a common size income statement for the year
ended March 31, 2020 and 2021 :

2019-20 2020-21

) ()
Revenue from operations 15,00,000 20,00,000

Particulars

Cost of goods sold 12,00,000 15,00,000
Operating expenses 50,000 80,000
Non-operating expenses 30,000 40,000
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IX.

24.
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28.

XL

29.

30.
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XII. Answer any one question from 31 to 32. Carries 8 scores.

31.

32.

Goodwill Ltd. issued 50,000 equity shares of T 10 each, payable as follows :

On Application T3
On Allotment T4

On First and final call ¥ 3

(1x8=8)

All the shares subscribed and the company received all the money due, with the

exception of first and final call money on 1000 shares. These shares were forfeited and

reissued to Mr. Kumar as fully paid at ¥ 6 per share. Give journal entries in the books

of the company.

Following information is given by a company from its books of accounts as on March

31,2022 :
Particulars 9]
Inventory 50,000
Total Current Assets 80,000
Shareholder’s funds 2,00,000
10% Debentures 1,50,000
Current liabilities 50,000
Cost of revenue from operations 2,50,000
Calculate :
(1) Current ratio
(i) Liquid Ratio
(ii1) Debt Equity Ratio
(iv) Inventory Turnover Ratio
14
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XII. 31 2a)®@3 32 QI90W)SBS oBOMEIE1)o 30} GaldB33OIIM DOV M@3H)d. 8§ GO,

(1x8=38)

31, mawalled  efldlgaw’ 10 @1 alleias 50,000 @aflgl 80a0C61HB @6
O BHIS)OTNGBS (15300 AU®OEMo MSEIDI
@T@%dksoeoosmﬁ 3 @)l
@RELI0OHANG 4 @)l
a0V & ©a0M@ ¢HOUB 3 )al

a)EJ0 30a0CBGlo QIR0 1000 B0a0CBHBOS aOTY & ©OOM@3 203 Bem
391ad 30LI0IWIWID M08 @)HWle HMUTLD EIEENGHWle O2IW®). DD
OaHUQO)BUD  HARIDDG)HD)o  B0a0BOVINIIM 6 Bl (oSG andenacw)o
ARSNGB B30T BHBIV  3)@AM alMBal®oemMe MSOBI.  SHUTTWOS
NN B3 GEREM@3 af)WSIDHUB af)9)0))b.

32, 80} HMIales 2022 208431 60 @roeane mnasladmlanss allalesnud »1)010S

M@BH)aAN) :
gMo )

shadealadal 50,000
@BYO D (AOTV|DHOL! @RI HUD 80,000
830000 OSNBHB)OS aN6NE 2,00,000
10% &S |@eo13Ud 1,50,000
(O] ENIdWLD BHUB 50,000
(1RGN BN @3 WlaN 88

QIOAOMEDIO ealelal 2,50,000

NI BHMB)ailsl a0

(i)  S0ag@OMaI0®o

(i) elsfow @emalome

(ii)) eawenIq ;g @M1

(iv) gnadeaiadal algiaieal @RMaId®0
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